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1. BEEHAERXS YR B, X~U(0,2), Y~U(1,3), 4&M=max(X,Y), F/(2).fi(z) 7 AMIE oA RS % R R A, LA i 190 0E B )

ERIERR(10 %)

A 41<z<20, fi(2)=(z-1)/2

B. <o, Fy2)=(z2- 2)/4. BR

C. M2<z<3Rf, fy(2)=(z-1)/2.

D. o<z<3if, Fy (2)=(z%- 2)/4.

BEERFIENMEE

2. WX, YYBA S AEM TR, 0<a, b<1, WL R ETEM 2

EAERR(10 53)
A. #P(X>Y)=0.2, Wa=0.15, »=0.1.
B. i MBUEF (2, 1)=2a+b.
C. i A F(1, 1)=2a.

D. E(XY)=1.

3.
EERR(10 53)

A0, fy(x)=3e".
B.wys0mf, fy(y)=3e"Y.
C. 0B, fy(x)=2¢2,

D- 50, fy(y)=7.5(e7 - ).

2
4. 3 <x<n,

Hith.

WHN B METERE f()=1] 2
0,
EAJSERA(10 93)

A. Var(Y)=63/64.

B. E(Y)=7/8.

C. E(x?)=3/4.

—(2x+3y)
ELICX, ) MO & L B8 B f(x, ) = { ;59 v >x>0,

Hfib.
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D. £(¥2)=49/16.

5. WX YNBSS EAN P(X=i, Y=)=.(2i+j+1)/36, i, j =0,1,24 M=max(X,Y), N=min(X,Y), I LA T 3% 35 1F- i ) f&=
EAIERR(10 53)

A.P(M<1)=1/6.

B. P(M=1)=1/9.

C. P(N<1)=5/18.

D. P(N=1)=5/12. 1w

6. VX, VIHIBCAE AR T RN, T ELT 28 T4 2

BEERIENMEE

BAIERI(10 53)
A X5YMar.
B. X5 YIEAHK.
C.X5YHAgx.

D. X5 YAAHI I HASHSE.

T LS B (X, 1) I A B g f(x,y)=[LX|’;ﬂ; XY e RO EG R, TFO, 2)-

BAERR(10 4)
A.3/4.
B.1/6.

C. 0.

D. 5/6.

8. WHENERXMMASECN2MEA AT, W LA R IET$EIR 1 2
EAERA(10 9)

A. Var(2-3X)=6.

B. E(3X-2)=4.

C. Var(3X-2)=18.

D. g(2x2-3)=9.

9. BEHLEE(X,V)~N(4, -3, 4,9, -0.5), WL 45 BIEMHA

LZIEF(10 53)



A 2X-Y~N(11, 25).
B. X-Y~N(7, 19).
C. P(X>1-Y)=1/2.

D. X+2Y~N(-2,28).

10. EBENLAERX~UCL, 1), 2Y=X2, L (X, NEBEE ST RECAF(x, ), WLCF &S EfMTE
ZIEF(10 73)
A. F(0, 1)=0.5. 2R

B. F(0.2, 0.25)=0.5.
C. F(0.5, 0.04)=0.2.

D. F(-0.5,0.04)=0.25.
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